FURTHER. (ALCULUIS SOLUTIONS

L 2 U_ ~- Lot 2. jmdt

dy - bat+ Bsiet - g (L 30" da
i
W/
. = (l %a:,\z L C
B y=(4-3) 5@
by = 2(4-32). () BN G R
&
. -6(4-2%0)
3 OD So (%3@.\-953 doc b> 2 sia o da
= [(’suz\T = —()0621‘&
4.% -
= [ @ea)° = ‘coSZ(L\ 1 (052(0)
12 S-l 5 ( 3
; (3@ +2\“ (6 4\4—1\ - ("z‘-'(“\\ (-1
- 6 _ = 1,1
T Z~+ 7z
5 = |
Tz
= 5
4-
|
4 o) = mz + slc
= (1*21)‘2 + st
Py = -2(0-22°.(-2) + 3cosa

= 4 + 3 os 30

(1-2p



5. 5_%& ( (osPx. — SeA) = _0%% (@_o% L) - (SC/LUC-\l\

= 2k (o) - 2(sian) oS e
= - 2SUA LS. — ZSUNA Lot
= - 45dleST

= L. 25 A (dSK
= —2sin o

&q%c (s — seatdy = d%, (cos250)

= “Lsile
b6 B = coS2e — BsiAL e (8 - —a(sina(g)+ 6(084(%»
p(g = =252 - 2544 R (gm’% + b s 7%(3
= = Zsinde — 12cos 4 - .,z( \Ei + 6 (——;—_\3
= -2 (s 1 beos ) _ ,2@ _9)
2

= L-J2

4 t(/‘\
l 0
. T Iy
LR \\(-*— [s&m ¥ LOS’.LJ 4
o}
A \
(@ t \’r‘i\ - (O + l\
2

= = _ |\

JZ

=
(
"
)
?—1
\) "

=

2. — |1



